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NEW QUESTION 1
Which two protocols does the Cisco IM Presence service use to federate with external domains? (Choose two.)

A. XMPP
B. SNMP
C.SIP

D. SCCP
E. SMPP

Answer: AC

NEW QUESTION 2

To redirect calls from the phone extension for user A to the voicemail greeting, which call routing rule should be used in Cisco Unity Connection?
A. Attempt Forward forwarded routing rule

B. Opening Greeting direct routing rule

C. Attempt Sign-In direct routing rule

D. Opening Greeting forwarded routing rule

Answer: A

NEW QUESTION 3
Refer to the exhibit.
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A Cisco Jabber for windows users Is reporting an Issue with phone control. Which action will resolve this issue?

A. Change the privacy setting on the CSF device to "Off".

B. Uncheck "logged into hunt group" on the user's CSF device.

C. Create a device profile for the phone.

D. Add the standard CCM end users and standard CTI enabled permission groups for the user.

Answer: D

NEW QUESTION 4
Which DNS record is used for on-premises service by Jabber clients?

A. _collab-edge._tcp.<domain> SRV record
B. cisco-uds._tls.<domain> SRV record

C. _cisco-uds._tcp.<domain> SRV record
D. <tftp server FQDN> A record

Answer: C

NEW QUESTION 5

A collaboration engineer configured high availability for Cisco IM and Presence service The engineer wants to ensure that client failovers do not disrupt other users
on the secondary node What must the engineer configure to accomplish this goal?

A. "Maximum Requests Per Child” on the SIP Proxy service

B. "Maximum database requests to allow" on the XCP Router service

C. "EWS Status Frequency" on the Presence Engine service

D. "CUPC 8.5 And Higher - Re-Login Limits" on the Server Recovery Manager service

Answer: D

NEW QUESTION 6
An engineer is configuring DNS for service discovery in a jabber deployment for On-premises Clients. Which snippet will complete the SRV record name _
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tcp.example.com?

A. _cisco_uds
B. collab_edge
C. _xmp

D. server

E. _xmpp-client

Answer: A

NEW QUESTION 7
Which SAML component specifies the mapping of SAML assertion protocol message exchanges with standard messaging formats or communication protocols
such as SOAP exchanges?

A. SAML binding
B. SAML assertion
C. SAML profiles
D. SAML protocol

Answer: A

NEW QUESTION 8
Which SSO authentication method requires no action from the user when the session token times out?

A. web form

B. smart card

C. external database
D. local authentication

Answer: A

NEW QUESTION 9
Which two Cisco Unity Connection logs are used to troubleshoot issues with Message Waiting Indicators? (Choose two.)

A. Connection IMAP Server

B. Connection Mailbox Sync

C. Connection Notifier

D. Connection Message Transfer Agent
E. Connection Conversation Manager

Answer: CE

Explanation:
https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/connection/11x/troubleshooting/guide/b_11xcuctsg/b_1

NEW QUESTION 10
Users report that they are unable to check voicemail. and an engineer discovers that the voicemail system is not routing calls between Cisco Unity Connection and
Cisco UCM via SCCP Which action should be taken to resolve this issue?

A. Verify registration of the CTI ports.

B. Verify OPTIONS Ping in the SIP trunk profile.

C. Verify voicemail SIP trunk in the route list.

D. Verify Calling Search Space in the Directory Number setting.

Answer: D

NEW QUESTION 10
In the integration of Cisco Unity Connection using SIP, which SIP trunk security profile option is required for MWI to work correctly?

A. Accept out-of-dialog refer

B. Accept replaces header

C. Accept unsolicited notification
D. Accept presence subscription

Answer: C

NEW QUESTION 14

Refer to the exhibit.
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show ccn subsystem sip

An administrator is configuring a Cisco Unity Express call handier. One of the options will transfer calls off-system to Cisco UCME. The administrator wants the
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transfer to finish while the transfer target Is ringing. Which transfer-mode command completes the configuration?

A. attended

B. blind refer

C. semi-attended
D. Wind bye-also

Answer: C

NEW QUESTION 18
An engineer is checking the Cisco Unified Communications Manager and Cisco Unity Connection integration and presses the Message button on a phone to check
the voicemail. Which action does Cisco Unified CM take?

A. Cisco Unified CM looks up the voicemail pilot configured to dial.

B. Cisco Unified CM routes the configured hunt pilot to Unity Connection.
C. Cisco Unified CM looks up the hunt pilot configured to dial.

D. Cisco Unified CM sends an AXL query to Unity Connection.

Answer: A

NEW QUESTION 22
Which statement about SIP federation between Cisco Unified Communications IM and Presence and Microsoft Skype for Business is true?

A. Add the federated user as a contact in Jabber to view its presence status.

B. The role of SIP Proxy service is to process the XMPP packet in from Jabber and convert it to SIP.
C. TLS is optional.

D. Use of directory URI as an IM addressing scheme is not supported.

Answer: A

NEW QUESTION 27
SAML SSO is enabled in Cisco Unified Communications Manager. What happens when a browser-based client attempts to access a protected resource on a
service provider?

A. The browser follows the redirect and issues an HTTPS GET request to the IdP.
B. The IdP checks for a valid browser session.

C. The service provider generates a SAML authentication request.

D. The SAML request is maintained as a query parameter in the GET request.

Answer: C

NEW QUESTION 28
An engineer is configuring a remote Cisco IM and Presence Service and needs to ensure that users can communicate across clusters in the same domain and
receive presence status. Which protocol should be used to accomplish this task?

A. XMPP

B. DNS

C. LDAP

D. AXL/SOAP

Answer: A

NEW QUESTION 33

An engineer is configuring Cisco Unity Connection to provide messaging services and needs to designate a set of phone numbers to be used for transferring calls
within the organization to prevent toll fraud. Which mechanism in Cisco Unity Connection should be modified to accomplish this goal?

A. restriction tables

B. calling search spaces

C. transfer rules

D. fraud tables

Answer: A

NEW QUESTION 37
Refer to the exhibit.
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Microsoft
Exchange

Cisco IM&P

Which protocol is used for communication between Cisco IM and Presence and Microsoft Exchange Server?

A. POP3
B. IMAP
C. EWS
D. XMPP

Answer: C

NEW QUESTION 39
Which two steps are needed to configure high availability in Cisco IM and presence? (choose two.)

A. Enable the Failover Check box

B. Configure CUP administrator

C. Assign the subscriber to the redundancy group

D. Select the enable high availability checkbox and save the configuration change
E. Configure the CUP AXL user.

Answer: CD

NEW QUESTION 44
Refer to the exhibit.
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Persistent Chat is configured in the Cisco IM and Presence server using PostgreSQL as the back-end database. Users report that the Chat Rooms icon is missing
from their Cisco Jabber clients. Which action should the administrator take to resolve this issue?

A. Start the Cisco XCP Message Archiver.

B. Start the Cisco XCP Text Conference Manager.

C. Restart the Cisco XCP Directory Service

D. Restart the Cisco XCP XMPP Federation Connection Manager.

Answer: B

NEW QUESTION 48
Refer to the exhibit.
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After receiving a new desk phone, the Jabber user can no longer make calls via phone control. The help desk collected the user’s Jabber problem report and
verified that they the correct Cisco UCM CTI permissions. Which configuration must be changed to correct this issue?

A. Verify that the desk phone device has Allow Control of Device from CTI enabled.

B. Verify that the Cisco UCM service profile has Cisco UCM CTI servers configured.

C. Verify that the user’s desk phone device is listed as a controlled device in the Cisco UCM end user configuration

D. Verify that the device line configuration has Allow Control of Device from CTI enabled.

Answer: A
NEW QUESTION 53
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A collaboration engineer is configuring SIP interdomain federation for Cisco IM and Presence. The external domain cannot be discovered using DNS SRV. If the
external enterprise domain is ciscocollab.com, what destination pattem should the engineer use for a static route?

A. com.ciscocollab.*

B. _sipfederationtls._tcp.ciscocollab.com
C. *.ciscocollab.com,*

D. .ciscocollab.com

Answer: B

NEW QUESTION 55
Refer to the exhibit.

em_xmpp_led b4291b90| INFO | XMPPServerOutDir Could not resolve ‘jabber example com’ using SRV jabber tcp. Failing the outbound
connection

An administrator is troubleshooting an issue with XMPP Federation between two. eight-node IM and Presence clusters. After looking at the logs, the administrator
finds this message and must publish one or more DNS SRV records containing one or more addresses of the IM and Presence node(s). How many nodes must be
selected to publish?
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Answer: A

NEW QUESTION 59
Refer to Exhibit.
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An engineer is troubleshooting operation performance in the network. Which account should be taken to restore high availability in the sub cluster?

A. Start all critical services on the second node, and select the Fallback button in the “Presence Redundancy Group Configuration”
B. Go to “Presence Redundancy Group Configuration” on the Cisco UCM Administration page and select the Fallback button.

C. Start all critical services on both nodes and select “rebalance users” in the “Presence User Assignment”

D. Go to “Presence User Agreement” on the Cisco UCM Administration page and select “rebalance users” for all users.

Answer: A

NEW QUESTION 61
Fraudulent calls are being made from Cisco Unity Connection. Which action prevents the calls from reaching the PSTN using SCCP integration?

A. Change the configuration of the routing rule.

B. Change the CSS of the voicemail port.

C. Change the Rerouting CSS on the trunk to Cisco Unity Connection.
D. Remove values from restriction table.

Answer: B

NEW QUESTION 66

A customer is using Cisco Unified IM and Presence with high availability and has reported that their primary node is not providing any IM and Presence services.
What is causing this issue?

A. The presence redundancy group node state of the primary node is ‘idle".

B. The presence redundancy group node state of the peer node is "normal”.

C. The presence redundancy group node state of the primary node is 'initializing".

D. The presence redundancy group node state of the peer node is 'running in backup mode".

Answer: D

NEW QUESTION 69

An organization has two Cisco IM and Presence clusters: one in the Americas and one in EMEAR. Both clusters connect via an intercluster peer. Each Cisco IM
and Presence cluster has four nodes logically divided into two subclusters with high availability enabled with its local peers. When the Cisco IM and Presence
publisher node in the Americas fails, to where are the users failed over?

A. Cisco IM and Presence publisher in EMEA
B. in the different logical group
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C. Cisco IM and Presence subscriber in the Americas, in the different logical group

D. Cisco IM and Presence subscriber in EMEA

E. in the same logical group with IM and Presence publisher

F. Cisco IM and Presence subscriber in the Americas, in the same logical group with IM and Presence publisher

Answer: D

NEW QUESTION 71

An engineer is assisting a user who is reporting Jabber desk phone control issues. The user has two desk phones, but jabber controls only one of them. The user
is mot given the option to select the second phone within the Jabber client. Everything else is functioning normally with Jabber and with both desk phones. Which
action resolves this issue?

A. Set the Owner User ID on the second phone

B. Ensure that both phones are in the same device pool

C. Add the problematic phone to the user’s Controlled Devices list
D. Enable “Allow Control of Device from CTI"” on the second phone.

Answer: D

NEW QUESTION 73

An administrator is configuring Cisco Unity Connection call handlers The administrator wants to ensure that all outside callers are played a welcome message and
then are transferred to a live operator The administrator wants to restrict the callers from interrupting the welcome message with key presses Under which call
handler menu is this task accomplished?

A. Greetings

B. Transfer Rules

C. Caller Input

D. Message Settings

Answer: C
NEW QUESTION 76

A collaboration engineer is installing the Cisco Jabber client from the Windows CLI The engineer wants to complete a silent installation of the client clear any
existing bootstrap file, and use a Service Domain of cisco com Which install command achieves these goals?

msiexec /i CiscoJabberSetup.msi CLEAR=1 SERVICES_DOMAIN=cisco.com
msiexec /i CiscoJabberSetup.msi CLEAR=0 SERVICES_DOMAIN=cisco.com
msiexec /i CiscoJabberSetup.msi /quiet CLEAR=1 SERVICES_DOMAIN=cisco.com
msiexec.exe /| CiscoJabberSetup.msi /quiet CLEAR=1 550 _ORG_DOMAIN=cisco.com
A. Option A
B. Option B

C. Option C
D. Option D

Answer: C

NEW QUESTION 80
Refer to the exhibit.

Invalid credentials for Voicemail Service.

N

5.1 Connect to a device

A Jabber user is unable to access voicemail. During troubleshooting, an administrator captures this screenshot. What are the two ways to resolve this issue?
(Choose two.)

A. Ask the user to click on the Connect to a device" button and use the correct username and password.

B. Ensure the user is not locally created on Cisco Unity Connection with a password expiring separately from the password that is used for Jabber.

C. Make sure the Jabber service profile created in Cisco UCM contains Unity Connection UC service with a voicemail server configured.

D. Ask an administrator to create an account for this user in Cisco Unity Connection but remove the Unity Connection UC service from the Cisco UCM Jabber
service profile.Check if "OAuth with Refresh Login Flow” is enabled on Cisco Unity Connection but disabled in Cisco UCM.

Answer: AB

NEW QUESTION 84
Refer to the exhibit.
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An administrator troubleshoots push notifications, and Cisco TAC requests the trace files from the cluster. From which location should the files be collected?
fvariloglactivelimpitrace/cmas/ogd)/
fvarflog/activelcmitrace/ccmpnslog4j/
fvarflogiactive/cmitrace/cmaslogdj/

Aarlograclive/cmitraceicomyogd)!

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 87

A collaboration engineer wants to stop fraudulent calls to the PSTN that are being made through Cisco Unity Connection Cisco Unity Connection is integrated with
Cisco UCM via the SCCP protocol Which action accomplishes this goal?

A. Change the Rerouting CSS on the trunk to Cisco Unity Connection
B. Change the CSS of the voicemail port

C. Change the configuration of the routing rule

D. Remove values from the restriction table

Answer: B

NEW QUESTION 92
Refer to the exhibit.

: 5 High Availability

High Availability
Monitored Node Assigned Users Active Users Node State Node Reason
8543 ! 3 Running in Backup Mode Critical Service Down
1046 51.58 2 0 Failed Over with Critical Services not Running Critical Service Down

An organization is moving from on-premise Exchange to Microsoft Office 365 for email and calendaring. The administrator would like to maintain meeting presence
functionality in Jabber clients connected to Cisco IM and Presence after this move. Office 365 certificates must be installed to accomplish this. Which two trust
stores should these certificates be uploaded to on Cisco IM and Presence? (Choose two.)

A. cup-xmpp- trust
B. xmpp-fed-trust
C. cup-trust

D. tomcat-trust

E. xmpp-trust
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Answer: AD

NEW QUESTION 97
An engineer is working on a cisco unity Express system and notices that users that exist on the integrated cisco UCME are missing from Cisco Unity Express.
Which two actions using the GUI resolve this discrepancy? (Choose two)

A. Use the Synchronize task under the User ID field.

B. Use the Synchronize System under MWI

C. Use the Synchronize Information under Administration
D. Import the users using a CSV file.

E. Add the missing users manually to Cisco Unity Express

Answer: BE
NEW QUESTION 99

An engineer must configure a test user mailbox in a newly deployed Cisco Unity Express module. Which console command set reflects the correct configuration in
this scenario?

& username testuser create
username testuser pin 12345
username testuser phonenumber 4001
voicemail mailbox owner testuser
B
username testuser pin 12345
username testuser phonenumber 4001
voicemail mailbox owner testuser
c
username testuser phonenumber 4001
username testuser pin 12345
voicemail mailbox owner testuser
D
username testuser create
username testuser pin 12345
username testuser phonenumber 4001 testuser@labdomain.com
voicemail mailbox create testuser
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 102
An engineer is importing users into Cisco Unity Connection using AXL and discovers that some users are not listed in the import view. Which action should be
taken to resolve this issue?

A. Configure the user primary extension to their directory number.

B. Configure the user digest credentials to match the user password.

C. Configure the user access control group assignment to Standard CTIl Enabled.
D. Configure the username and password in LDAP.

Answer: A

NEW QUESTION 105

Which dial-peer configuration routes calls from SIP-based phones on Cisco Unified Communications Manager Express to Cisco Unity Express?
A. dial-peer voice 7000 voip destination-pattern 7000 session protocol sipv2session target ipv4: 10.3.6.127 codec g711alaw

B. dial-peer voice 7000 voip destination-pattern 7000 session protocol sipv2session target ipv4: 10.3.6.127 codec ilbc

C. dial-peer voice 7000 voip destination-pattern 7000 session protocol sipv2session target ipv4: 10.3.6.127 codec g711lulaw

D. dial-peer voice 7000 voip destination-pattern 7000 session protocol sipv2session target ipv4: 10.3.6.127 codec g729r6

Answer: C

NEW QUESTION 110
An engineer is configuring a customer’s environment for Jabber user over mobile and remote access. The customer’s internal domain. Which Jabber parameter
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defines the external service discovery domain statistically?
A. UPN discovery enabled

B. exclude services

C. services domain

D. voice services domain

Answer: B

NEW QUESTION 112

An administrator is troubleshooting an Issue with Cisco Unity Connection. When outside callers interact with the Auto-Attendant, the callers cannot reach the
operator when they press '0’. However, the callers can leave messages for users when they get a user's mailbox. Internal callers to the Auto-Attendant are
experiencing the same issue. Which two areas should the administrator verify that Cisco Unity Connection is receiving the callers' keypresses? (Choose two.)

A. Cisco Unity Connection Media (Wave) Traces

B. Cisco Unity Connection Remote Port Status Monitor
C. Cisco Unity Connection Packet Capture

D. Cisco UCM CallManager Traces

E. Cisco UCM CDR Records

Answer: CD

NEW QUESTION 113
Refer to the exhibit.

User ID : user3
Node Name
cucm-1imp-1
cucm-imp-2

Which two steps resolve the “Users with Duplicate User IDs” message? (Choose two.)

A. Rename the directory URI value for one of the users to ensure that there is no duplication.

B. Rename the User ID value for one user if different users on different clusters have the same User ID assigned.
C. Unassign a user from one of the clusters when the same user is assigned to two different clusters.

D. Assign the duplicate user to the secondary Cisco IM and Presence node.

E. Delete the user ID for the duplicate user ID.

Answer: BC

NEW QUESTION 114
Refer to the exhibit.

An engineer is troubleshooting an issue with Cisco Jabber for Windows The end-user reports that Cisco Jabber cannot be used to control a Cisco 8841 IP Phone

The phone appears in the Jabber client, but there is a red x on the icon for the phone Which end-user option resolves the issue?

A. Standard CTI Allow Reception of SRTP Key Material

B. Standard CTI Allow Calling Number Modification

C. Standard CTI Allow Call Monitoring

D. Standard CTI Allow Control of Phones Supporting Rollover Mode

Answer: D

NEW QUESTION 117
Refer to the exhibit.
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The associated directory number is configured with Call Forward All to voicemail in Cisco UCM. When users call the directory number they hear the opening
greeting. Which action should be taken to correct this issue?

A. Modify the rule to a Forward Routing Rule.

B. Modify the Calling Number to 3005.

C. Modify the Dialed Number condition from "Equals” to "In".
D. Modify the Call Forward All to the voicemail pilot.

Answer: A

NEW QUESTION 119
Refer to the exhibit.
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An engineer assists a user who reports that the voicemall notifications show correctly on the desk phone are not available in the jabber client. Which action
resolves this issue?

A. Reset the Jabber client and have the user sign in again

B. Set the voicemail profile on the user’s line on the CSF device.

C. Configure the voicemail profile on the user’s service profile

D. Ensure that the voicemail server is listed in the user’s CTI profile

Answer: C

NEW QUESTION 124

An end user opened a ticket, stating that though he can log in to Jabber for Windows, and presence and chat works, he cannot place phone calls using the
desktop client. You investigate the user and find that no phone device is associated with the user account in Cisco Unified Communications Manager. Which
device type must you create for this user to enable calling services from the Jabber for Windows desktop client?

A. Cisco Unified Personal Communicator

B. Cisco Jabber for Tablet

C. Cisco Unified Client Services Framework
D. third-party SIP device (advanced)

Answer: C

Explanation:
https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/jabber/11_5/CJAB_BK D00D8CBD_00_deployment-in

NEW QUESTION 126
An engineer must configure open SIP Federation on cisco IM and presence using cisco Expressways with the additional requirement not to allow a specific list if
domains and allow all other domains that are not specified. How is this additional requirement met?

A. Configure default static routes for each blocked domain with an invalid next-hop IP address.
B. Add a static route for each blocked domain and keep the “Block Route” checkbox checked.
C. Block the specified SIP domains on the Expressway

D. Add each allowed domain as a SIP Federated domain.

Answer: C

NEW QUESTION 131
Which HTTP response code does Cisco UCM use to redirect a client to the identity provider for authentication?

A. 300
B. 301
C. 302
D. 304

Answer: C

NEW QUESTION 132
A network engineer needs to configure high availability on the Cisco IM and presence cluster. After the configuration was completed and tested, the engineer
noticed on Cisco UCM that the IM and Presence publisher is in “Failed Over” state. Which set of steps must be taken to resolve this issue?
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A. Cisco UCM Group Configuration > High Availability > click Fallback

B. BLF Presence Group Configuration > High Availability > select the publisher server > click Restart Services
C. BLF Presence Group Configuration > High Availability > click Fallback

D. Presence Redundancy Group Configuration > High Availability > click Fallback

Answer: D

NEW QUESTION 137
Which description of an IdP server is true?

A. authenticates user credentials

B. provides user authorization

C. is an authentication request that is generated by a Cisco Unified Communications application

D. consists of pieces of security information that are transferred to the service provider for user authentication

Answer: A

Explanation:

SSO uses Security Assertion Markup Language (SAML) to exchange authentication details between an Identity Provider (IdP) and a service provider. The identity
provider authenticates user credentials and issues SAML assertions, which are pieces of security information transferred from the identity provider to the service
provider for user authentication. Each assertion is an XML document that contains trusted statements about a subject including, for example, username and
privileges. SAML assertions are usually digitally signed to ensure their authenticity.

NEW QUESTION 142
A jabber user reports that they receive pop-up windows warring about untrusted certificates when they attempt to log in to jabber without receiving the certificate
warnings. Which two actions resolve this issue? (Choose two.)

A. Add the certificates to the client machine’s local certificate store or keychain

B. Reinstall the Jabber client using the /quiet option

C. Configure Jabber with the INVALID_CERTIFICATE_BEHAVIOR option set to “RejectAndNotify.”
D. Replace self-signed certificates with certificates signed by a CA

E. Move the user to a different Presence Redundancy Group

Answer: AD

NEW QUESTION 144
What prevents toll fraud on voicemail ports?

A. IP address trusted list on the PSTN gateway

B. CSS

C. Block OffNet to OffNet Transfer service parameter
D. FAC

Answer: B

NEW QUESTION 149
Digital networking is configured between two Cisco Unity Connection clusters using an HTTPS connection. Which two objects are replicated between these two
clusters? (Choose two.)

A. partitions and search spaces

B. user greetings

C. user templates and user greetings

D. call handlers

E. users and their corresponding mailboxes

Answer: AE

NEW QUESTION 152
An engineer is configuring SAML SSO for a Cisco Unified Communications Manager. After completing all required steps, the engineer wants to verify the status.
Which CLI command provides the status of SAML SSO?

A. utils sso status

B. show sso status
C. show saml status
D. utils saml status

Answer: A

NEW QUESTION 156
Drag and drop the steps from the left into the correct order on the right that describes the flow of presence updates when a user manually sets the presence status
in Cisco Jabber. Not all options are used.

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 300-810 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/300-810/ (160 New Questions)

User manually sets presence status to “Off Shift” step 1

Jabber sends an XMPP message on TCP port 5222
to the Cisco Presence Engine via the Cisco XCP step 2
Connection Manager and Cisco XCP Router.

Jabber sends an XMPP messa%e on TCP port 5223
to the Presence Engine via the XCP federation step 3
Connection Manager and XCP Router.

The Presence Engine responds to Jabber via XCP
Connection Manager and XCP Router with a
confirmation of the status change.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Stepl-A

Step2-B Step3-D
https://www.ciscolive.com/c/dam/r/ciscolive/emea/docs/2019/pdf/BRKUCC-3347.pdf

NEW QUESTION 158
Refer to the exhibit

Voicemail Profile
Primary PrimaryCuC B
Secondary <None> B

Tertiary

Credentials source for voicemail service* Unified CM - IM and Presence

A collaboration engineer is troubleshooting an issue with Cisco Jabber for Windows deployed in phone-only mode The users are reporting that they cannot access
voicemail services via the Cisco Jabber for Windows client on the corporate LAN Which steps resolve this issue?

A. Add a secondary voicemail service to Cisco UCM to allow Cisco Jabber users to receive voice messages
B. Apply the voicemail service to a service profile so that the client can retrieve the settings

C. Update the jabber-config xml file with the correct voicemail parameters and restart the appropriate services
D. Add a primary voicemail service to Cisco UCM to allow Cisco Jabber users to receive voice messages

Answer: D

NEW QUESTION 159

An engineer |s assisting a user who Is reporting Jabber Presence Issues. Whenever the user Is on an active call, Cisco Jabber does not show the user as active
when on a call. However, the user can set the presence status manually, and that status shows correctly. Which action resolves the issue?

A. Assign the user to a different Presence Redundancy Group.

B. Restart the XCP Router service.

C. Set the Owner ID on the users desk phone.

D. Associate the user to the line on the Directory Number Configuration page.

Answer: D

NEW QUESTION 164
Drag and drop the steps for SAML SSO authentication from the left into the order on the right.
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The client attempts to access a resource, step 1
The client sends an authentication
step 2
request to an IdP.
The client sends a signed response to the ten 2
, : ste

service provider. P
The IdP authenticates the client by using
a signed response, Stip
The service provider redirects the client to -
the IdP.

A. Mastered

B. Not Mastered
Answer: A

Explanation:

[ W _—— e i N W W W T R R S T W W N W I

| _ ' .
| The client attempts to access a resource. || The client attempts to access a resource.

e I e

| The client sends an authentication | | The service provider redirects the client to
|
| request to an IdP. | | the IdP.

e gew e mwwr  memn e e e mew g e mewm o e g g e mmw memw  mm  m SEn Smn S Smm Smm S mmm mm mmm mmm . mmm mm e mm = A= = = =

' The client sends a signed response to the | ' The client sends an authentication
| service provider. _ request to an IdP.

The [dP authentlcates the C|IE'I'I'E by usmg I ' The 1dP authenticates the client by using

| a s:gned response. J | a signed response.

NEW QUESTION 166
Refer to the exhibit.

Figure 17 Business Hours Step Output Branches

= # Is Holiday [Date: --Current Date--]

=% No
&2 Play Prompt [contact: --Triggering Contact--, prompt: holidayPrompt]
=1 Yes
- ® Business Hours [date: --Current Date--, time: --Current Time--, schedule: businessSchedule)
= ¢ Open
=& Play Prompt [contact: --Triggering Contact--, prompt: busOpenPrompt]
=4 Closed

&2 Play Prompt [contact: --Triggering Contact--, prompt: busClosedPrompt]

An administrator is configuring the auto-attendant script for a Cisco Unity Express Integration to Cisco UCME and wants to play the “busOpenprompt” wave file

when il is not a holiday. How should the script be configured to accomplish this goal?
A. Check the Business Hours only if the "Is Holiday" prompt returns a "Yes".

B. Swap me Open and Closed branches in the script.

C. Check the Business Hours only if the "Is Holiday" prompt returns a "No".

D. Swap the “busOpenPrompt” with “busclosedPrompt”.

Answer: C

NEW QUESTION 171
Refer to the exhibit.
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A collaboration engineer is troubleshooting Cisco Unity Express integrated with Cisco UCME. Internal users and external callers report that calls to the auto-
attendant are answered, but that greeting is not being played. Which two actions must the engineer take to resolve the issue? (Choose two.)

A. Change the trigger number.
B. Change the welcome prompt setting.
C. Rerecord AAWelcome.wav.

D. Increase the number of sessions on the aa2 application.

E. Change the language setting on the prompt.

Answer: CD

NEW QUESTION 176

A user encounters a problem while checking voicemail, set up in a Cisco UCME and Cisco Unity Express integration. The user reports that when calling the office
number from a mobile phone, the call goes to voicemail, but it is then routed to the main menu rather than the voicemail box. The user can check voicemail from

an office phone without any issues How is this issue fixed?

A. Assign the user to the correct user group.
B. Add the user to Cisco Unity Express.

C. Configure a primary E.164 number for the user.

D. Set "Login without PIN" to 'No" for the user.

Answer: B

NEW QUESTION 179

An end user opened a ticket, stating that before logging in to Jabber for Windows, a warning is displayed that a server certificate has expired. Which two

certificates must be verified on the Cisco Unified Communications Manager and IM&P deployment? (Choose two.)

A. capf on Cisco Unified CM

B. cup-xmpp on IM&P

C. callmanager on Cisco Unified CM
D. tomcat on Cisco Unified CM

E. cup on IM&P
Answer: BD

Explanation:

https://www.cisco.com/c/en/us/support/docs/unified-communications/unified-presence/116917-technote-certific

NEW QUESTION 180
Refer to the exhibit.
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Update Credentials

Your Voicemail credentials are invalid. Please update
your account information to use Voicemail service.

Update Cancel

Which action allows a remote Cisco Jabber user utilizing Mobile and Remote Access to automatically log in to a Cisco Unity Connection voicemail box via OAuth?

A. Add CUCM under System Settings > Authz Servers in Cisco Expressway-E.

B. Add CUCM under System Settings > Authz Servers in Cisco Expressway-C.
C. Add CUCM under System Settings > Authz Servers in Cisco Unity.

D. Add CUCM under System Settings > Authz Servers in Cisco Unity Connection.

Answer: D

NEW QUESTION 185
Which authentication method allows a user to log in to an SSO-enabled Cisco Unified Communications application by utilizing a Microsoft Windows login, thereby
not requiring any credentials to be entered?

A. Smart Card
B. OAuth

C. form-based
D. Kerberos

Answer: D

Explanation:

https://www.cisco.com/c/en/us/support/docs/unified-communications/jabber-windows/118773-configure-kerber The main advantage of Kerberos authentication
compared to the other authentication methods is that you do not need to provide your credentials when you log in to Cisco Jabber. If you use Kerberos, the client
does not prompt users for credentials, because authentication was already provided to gain access to the Windows desktop. This authentication method allows
you to log in to Cisco Jabber with your Microsoft Windows login.

NEW QUESTION 190
An administrator is setting up the Cisco Unified IM and Presence on-premises high availability feature and wants the Server Recovery Manager to initiate failover
after 90 seconds. However, failover is happening after 60 seconds How is this issue corrected?

A. Change peer Heartbeat Timeout to 90 seconds.

B. Change Keep Alive (Heartbeat) Interval to 90 seconds
C. Change critical service delay to 90 seconds.

D. Change keep Alive (Heartbeat) Timeout to 90 seconds.

Answer: D

NEW QUESTION 192

An engineer deploys Centralized Deployment for Cisco IM and Presence, where central IM and Presence runs version 12.0, and remote Cisco UCM clusters run
version 10.5. The engineer checks under System > Centralized Deployment and notes that Status remains UnSynchronized. What are two reasons for this status?
(Choose two.)

A. The Cisco UCM and IM and Presence cluster must be running at least version 11.5 to allow for Centralized Deployment.

B. The remote Cisco UCM cluster does not support OAuth Refresh Token flow.

C. This connection must be synchronized from the remote Cisco UCM Administration menu.

D. The username ana/or password of the application user that was provided for adding remote dusters to the central IM and Presence is incorrect.
E. The application user that is configured on remote Cisco UCM clusters does not have 'Standard AXL API| Access- added.

Answer: BC

NEW QUESTION 197

An engineer is configuring a Cisco Voicemail organization. How many links be configured between two Cisco unity connection Clusters?
A. One

B. Two

C. Three

D. Four

Answer: A
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NEW QUESTION 202
An engineer is configuring XMPP federation on the Cisco IM and Presence server and has changed the security settings to TLS Optional on one node in the
cluster. What is the next step in the configuration process?

A. Start the Cisco DB Replicator

B. Start the Cisco Replication Watcher.
C. Restart the Cisco XCP Router.

D. Restart the Cisco Presence Engine

Answer: C

NEW QUESTION 206
A collaboration engineer troubleshoots an Issue with Cisco IM and Presence federated with Microsoft Skype for Business. A Cisco Jabber user reports being
unable to see the presence status of a user on Microsoft Skype for Business when searching for the Microsoft user. Which action resolves this issue?

A. Disable TLS for the federation.

B. Configure the federation to use the XMPP protocol.

C. Add a static route on Cisco IM and Presence to the Skype for Business domain.
D. Have the Jabber user add the Skype for Business user to the Jabber contact list.

Answer: A

NEW QUESTION 209

How is automatic fallback enabled on a Cisco IM and Presence server?

A. In IM and Presence Service Parameter Configuration > Cisco Server Recovery Manager, change the Failover parameter to True.

B. In Communications Manager Service Parameter Configuration > Cisco Server Recovery Manager, change the Enable Automatic Fallback parameter to True.
C. Automatic fallback is enabled by default.

D. In the Presence Redundancy Group Configuration > Cisco Unified Communications Manager, check the Enable Automatic Fallback parameter.

Answer: B

NEW QUESTION 214
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